Question Set Rubric

0 9 8 7 6-5
Needs More
Excellent Very Good Average Below Average Practice
(+) (V'+) (v) () ()
= 100% of the = 55% of the = T5% of the = 55% of the » |Less than 65% of
questions questions questions attempted questions attempted the gquestions
attempted attempted ([complete (complete attempied
(complete (complete sentancas) sentancas) {complete
sentences) sentences) » T5% of the answers | = 65% of the answers sentences)

= 100% of the
answers show
calculations
performed to solve
problem

= Neat and organized
presentation

» == 90% correct

= H5% of the answers
show calculations
performead to solve
problem

= Meat and organized
presentation

= = 80% correct

show calculations
performed 1o solve
problem

= Organized
presentation

= > 0% correct

show calculations
performed to solve
problem

= Mot organized,
slightly massy

= > G0% correct

= |Less than 60% of
the answers show
calculations
performed to solve
problem

= Mot organized and
VErY messy

= < 50% correct




